Form B
Sample Test - English Language Arts Explanations
of Correct Answers

REVISING/EDITING PART A

1. The question asks for the best way to combine the sentences.

A. Incorrect. Although the option combines the sentences in a way that accurately reflects the
meaning of each individual sentence, the combined sentence is a string of clauses that do
not effectively cohere. Because it is poorly structured, the combined sentence does not
clarify the relationship of ideas as effectively as the correct response does. The sentence
incorrectly uses “but tourists,” and “which cost” modifies “the space station” but does not
modify the trip. Compared with the correct response, the combined sentence in this option
is also imprecise and unnecessarily wordy.

B. CORRECT. The option uses a complex sentence to present ideas clearly and precisely, and it
shows the relationship between the ideas in the original sentences. In the first part of the
sentence, the conjunction “and” correctly joins the first and second sentences by indicating
a relationship, rather than a contrast, between the two. In the second part of the sentence,
the conjunction “but” adds additional emphasis to the fact that while tourists will be allowed
to visit the space station, the cost of the trip will likely prohibit most people from visiting.

C. Incorrect. Although the option combines the sentences in a way that accurately reflects the
meaning of each individual sentence, the combined sentence is a string of clauses that do
not effectively cohere. Because it is so poorly structured, the combined sentence does not
clarify the relationship of ideas as effectively as the correct response does. Compared with
the correct response, the combined sentence in this option is also imprecise and
unnecessarily wordy.

D. Incorrect. The combination of the sentences contains an illogical relationship between ideas
with the statement that tourists will be allowed to pay for visits to the space station because
the cost is $52-$58 million round trip. The connection between the idea that “tourists will
soon be allowed to pay for visits” and the subsequent “therefore few people will be able to
take advantage of the opportunity” is also illogical.
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The question asks for the identification of the sentence that has an error in its construction and

should be revised.

Incorrect. There are no errors in the structure of sentence 1. The clause “who played in the
Long Island area at the time” correctly modifies the noun “New York Nets.” “Who” is the
correct relative pronoun to serve as the subject of the modifying clause because it refers to
people rather than objects or things.

CORRECT. Sentence 2 contains a structural error. The current placement of the clause
“where the team played for thirty-five seasons” suggests that the clause is modifying the
term “financial troubles,” which is illogical. The clause “where the team played for thirty-five
seasons” should immediately follow the location, “New Jersey.” A revised version of the
sentence might read, “After the team had financial troubles, the owner of the Nets decided
to take the team to New Jersey, where the team played for thirty-five seasons.”

. Incorrect. There are no errors in the structure of sentence 3. The phrase “including two

appearances in the NBA finals” is a nonrestrictive phrase that provides further detail about
the team’s “sixteen playoff appearances.” The phrase is set off by a comma because it is not
essential to understanding the meaning of the sentence.

Incorrect. There are no errors in the structure of sentence 4. The clause “where the team
now plays under the name the Brooklyn Nets” is a nonrestrictive clause that provides
further detail about the team after its move back to New York in 2012. The clause is set off
by a comma because it is not essential to understanding the meaning of the sentence.

The question asks for the revision of the sentence that uses the most precise language.

A. Incorrect. The word “extremely” does not specify the precise length of the trail

(2,200 miles); “millions” is less precise than the specific number of people who hike the trail
each year (two million); and the verb “do” imprecisely describes the purpose of visiting the
trail (hiking).

Incorrect. While the revision specifies the precise length of the trail and the verb “hike”
precisely describes the purpose of visiting the trail, “more than a million” is less precise
than the specific number of people who hike the trail each year (two million).

CORRECT. The length of the trail (2,200 miles), the specific number of people who hike the
trail each year (two million), and the action of the visitors (hiking) are clear and precise in
this revision of the sentence.

Incorrect. The word “lengthy” is less precise than specifying the actual length of the trail
(2,200 miles); “a couple million” is less precise than the specific number of people who hike
the trail each year (two million); and the verb “do” imprecisely describes the purpose of
visiting the trail (hiking).

217



4, The question asks for the pair of revisions needed to correct the errors in the paragraph, which

appear in sentence 2 and sentence 3.

Incorrect. The comma after the word “homes” in sentence 1 is necessary for separating the
subordinate clause “When coal was used to heat homes” from the main clause. The only
edit needed in this pair is in sentence 3, which incorrectly shifts the verb into the present
tense. The clause “as natural gas becomes more common” should be “as natural gas
became more common.”

Incorrect. The comma after the word “homes” in sentence 1 is necessary for separating the
subordinate clause “When coal was used to heat homes” from the main clause. In

sentence 4, the word “remarketed” is in the past tense established in the paragraph and
should not change to the past perfect tense “had remarketed.”

. CORRECT. This option is the only choice that revises the errors in both sentence 2 and

sentence 3. In sentence 2, a comma needs to follow the word “company” to set off the
phrase “who owned a cleaning product company.” A comma is necessary because the
phrase is a nonrestrictive clause: the phrase provides extra information about Cleo and
Noah McVicker’s line of work, but the phrase is not necessary in order to understand the
meaning of the sentence. The second error is in sentence 3, which incorrectly shifts the verb
into the present tense. The clause “as natural gas becomes more common” should be “as
natural gas became more common.”

. Incorrect. In sentence 2, a comma needs to follow the word “company” to set off the phrase

“who owned a cleaning product company.” In sentence 4, the word “remarketed” is in the
past tense established in the paragraph and should not change to the past perfect tense
“had remarketed.”
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REVISING/EDITING PART B

Find Time to Volunteer

5.

The question asks which revision of sentence 2 uses the most precise language.

A.

CORRECT. In sentence 2, the author states that people who volunteer in their free time do
so “at various places.” The revision to sentence 2 provides the most precise language
because it references three specific places (animal shelters, community centers, and parks)
where people often volunteer.

Incorrect. Although this sentence mentions “a variety of places, events, or organizations” at

which people volunteer, the revision does not use the most precise language, because it
does not list specific places, events, or organizations.

. Incorrect. Although this sentence mentions “local establishments that help people, animals,

or other groups,” the revision does not use the most precise language, because it does not
name the specific types of establishments at which people can volunteer.

Incorrect. Although this sentence mentions “places where [volunteers] can help people in
many ways,” the revision does not use the most precise language, because it does not
provide specific examples of where people can volunteer.

The question asks which sentence should follow sentence 4 to introduce the main claim of

the passage.

CORRECT. Sentence 4 states that “research shows that those who volunteer also receive
benefits.” The sentence in the option logically follows the ideas in sentence 4 and provides
the best thesis statement for the passage because it introduces the main claim that high
school students should consider the benefits of volunteerism.

Incorrect. While the sentence refers to the “benefits” mentioned in sentence 4, it
erroneously asserts that “immediate and long-term results” are “guaranteed.” In addition,
the sentence does not introduce the main claim of the passage that volunteering is
beneficial for high school students.

. Incorrect. Although the sentence states that “volunteerism can be beneficial for students,” it

introduces the idea that “the family, and the community” benefit as well, which is not part
of the main argument. Therefore, this sentence should not follow sentence 4 to introduce
the main claim of the passage.

. Incorrect. Although the sentence introduces the claim that “high school students should

learn about” volunteering, it focuses on the idea that volunteering strengthens the
community, which is not the main claim. This sentence does not accurately introduce the
claim that volunteering is beneficial for high school students and thus should not follow
sentence 4.
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7. The question asks which sentence is least relevant to the ideas presented in the second

paragraph (sentences 5-10) and should be deleted.

A. Incorrect. Sentence 5 introduces the topic of the second paragraph, which is that finding
time to volunteer “may sound impossible” for many students. Sentence 6 logically follows
this idea because it provides one reason why students might hesitate or be unable to
volunteer. Therefore, sentence 6 is relevant to the ideas presented in the second paragraph
and should not be deleted.

B. CORRECT. Sentence 7 states that “time and energy” are required for volunteering, which
partially addresses the topic of the second paragraph about the various commitments that
fill high school students’ schedules. However, sentence 7 interrupts the flow of the
paragraph by interjecting specific examples (“volunteering at a retirement center or
homeless shelter”) into a general list of activities and commitments. Thus, the sentence is
the least relevant to the paragraph and should be deleted.

C. Incorrect. In the second paragraph, the author discusses why some high school students
may hesitate to volunteer. In sentences 6 and 9, the author points out that “schoolwork”
and “family obligations and part-time jobs” are activities that require students’ time and
may cause them to hesitate taking on any additional activities. Sentence 8 contributes to
this idea by stating that “extracurricular activities” also require a time commitment from
students. As a result, sentence 8 contributes to the ideas in the second paragraph and
should not be deleted.

D. Incorrect. In the second paragraph, the author acknowledges that some high school
students may hesitate to volunteer because of “schoolwork” and “extracurricular activities.”
Sentence 9 contributes to this idea by stating that “family obligations and part-time jobs”
also require a time commitment and may cause students to hesitate to volunteer. Therefore,
sentence 9 contributes to the ideas in the second paragraph and should not be deleted.
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The question asks which option would best follow sentence 12 to support the ideas presented

in the third paragraph (sentences 11-12).

E. Incorrect. The subject of the main clause in sentence 12 is “admissions counselors.”
Although the second sentence in the option mentions “admissions counselors,” it does not
support the ideas in the paragraph, because the statement that “admissions counselors
know that character traits like these will benefit the applicants” focuses on how students
benefit, while sentence 12 focuses on how these traits benefit the community.

F. Incorrect. While sentence 11 discusses the potential academic and professional connections
that can be made through volunteering, sentence 12 moves on to the topic of college
admissions. Since the sentences in the option revert back to the topic of connections, they
do not support and logically follow a sentence about how college admissions counselors view
students with volunteering experience.

G. Incorrect. Although the sentence in the option continues on the subject of admissions
counselors and follows the idea in sentence 12 that these counselors tend to favor students
who “care about making their community and college campus a better place,” the sentence
focuses on what students will do while in college rather than on how volunteering helps
them get into college. Therefore, the sentence does not best follow sentence 12 and support
the ideas presented in the third paragraph.

H. CORRECT. In sentence 12, the author states that college admissions counselors view
students who list volunteer work on admissions applications as “applicants who care about
making their community and college campus a better place.” The sentence in the option
best follows sentence 12 and supports the ideas in the third paragraph because it provides
additional details about why admissions counselors look beyond academics when
considering students for admissions and the positive qualities assigned to those who have
volunteering experience.
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9. The question asks which concluding sentence should replace sentence 22 to provide the best

support for the argument presented in the passage.

A. Incorrect. Although the sentence lists examples of organizations that depend on
“hardworking young people” as volunteers, it should not replace sentence 22, because its
use of specific examples does not provide a strong conclusion to the main idea in the
passage, and it does not best support the main argument that students benefit themselves
and their community when volunteering.

B. Incorrect. While the sentence supports the argument that students “will experience a host
of benefits” through volunteerism, it should not replace sentence 22 as a concluding
sentence, because it does not best support the main argument that volunteerism benefits
both the students and their community.

C. Incorrect. Although the sentence emphasizes the importance of prioritizing volunteerism, it
should not replace sentence 22, because it focuses on the main idea in the second
paragraph (“For many students, this proposition may sound impossible.”), rather than the
main argument that volunteerism benefits both students and their community. This
sentence introduces the idea that student volunteers “are soon encouraging their peers” to
volunteer, which does not best support the argument presented in the passage.

D. CORRECT. This sentence should replace sentence 22 to conclude the passage because it
lists specific reasons for volunteering (“Whether they are seeking admission to college,
preparing to enter the workforce, or simply looking to reduce stress”) and best supports the
main argument that volunteering not only helps students but can also help their community
(“high school students who volunteer can help themselves as much as they help others”).
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Moving Through Mountains

10. The question asks which sentence should be added to the end of the first paragraph in order to

introduce the topic of the passage, which is the description, construction, and use of the

Gotthard Base Tunnel.

2

Incorrect. The option is incorrect because it offers information about the funding used to
build the Gotthard Base Tunnel but does not provide a description of the tunnel.

Incorrect. The option is incorrect because it gives details about the opening ceremony of the
tunnel but does not provide a description of the tunnel.

CORRECT. The option correctly presents and describes the Gotthard Base Tunnel.

. Incorrect. The option is incorrect because it offers a result of completing the Gotthard Base

Tunnel rather than offering an introductory statement presenting and describing the tunnel.

11.

The question asks for a sentence that provides additional details about the tunnel-boring

machines used to build the Gotthard Base Tunnel in order to support the description of the

machines in sentence 7.

A.

Incorrect. The option is incorrect because it offers information about how tunnel-boring
machines were an improvement over previous methods but does not include information
about how the machines work.

CORRECT. The option is correct because it offers specific details about how tunnel-boring
machines, such as the ones used to create the Gotthard Base Tunnel, drill through rock.

. Incorrect. The option is incorrect because it presents the idea that the tunnel could not be

built until advances were made in tunnel-boring machine technology and does not describe
how the machines function.

Incorrect. The option is incorrect because, though it explains that there are different types
of cutter heads used for different geologies, the geology of the tunnel area is not discussed
in sentence 7 or in the rest of the paragraph.
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12,

The question asks where sentence 11, which completes the detailed steps of how the tunnel

was built, should be moved within the second paragraph in order to improve the organization of

the paragraph.

Incorrect. The option, placing the sentence at the beginning of the paragraph (before
sentence 6), is incorrect because it would not make sense since the process of building the
tunnel has not yet been introduced.

Incorrect. The option is incorrect because placing the sentence after sentence 6 would not
make sense given that adding concrete would have to happen after the rock was broken
down and removed from the tunnel.

. Incorrect. The option, placing the sentence between sentences 8 and 9, would be incorrect

because the use of concrete did not take place before the removal of “28 million tons of
rock” (sentence 9).

. CORRECT. The option, placing the sentence between sentences 9 and 10, is correct because

placing the sentence there helps the reader understand the full sequence of steps performed
in constructing the tunnel before the cost of the project is introduced.

13.

The question asks which sentence should be removed because it presents an idea that shifts

away from the main idea of the third paragraph, which is about the transportation benefits of

the Gotthard Base Tunnel.

A.

Incorrect. The option (sentence 13) is incorrect because the idea of faster travel times is
important to the development of the main idea of the paragraph.

Incorrect. The option (sentence 14) is incorrect because the sentence provides a specific
example of decreased travel time between two cities when traveling through the Gotthard
Base Tunnel, supporting the development of ideas in the paragraph.

. Incorrect. The option (sentence 15) is incorrect because the sentence compares the

Gotthard Base Tunnel to another tunnel that provides an important connection between
places; thus, the sentence supports the idea that transportation innovations are beneficial.

CORRECT. The option (sentence 16) is the correct response because, even though the
sentence provides additional information about the Channel Tunnel, it does not help the
reader understand the benefits of the Gotthard Base Tunnel.
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14.

The question asks for a transition that bridges the ideas between sentences 17 and 18 and

accurately presents the relationship.

Incorrect. The option is incorrect because the use of the word “although” and the mention
of freight trains suggest that sentence 18 will be about other types of vehicles that use the
Gotthard Base Tunnel, and the transition phrase does not logically precede the sentence.

Incorrect. The option is incorrect because the reference to the amount of time it took to
build the tunnel does not help lead into the idea presented in sentence 18.

. CORRECT. The option is correct because it bridges the sentences by referring to the

Gotthard Base Tunnel as a solution to the problems described in sentence 17 and logically
introduces sentence 18.

. Incorrect. The option is incorrect because it suggests that sentence 18 is related to the

increasing number of trains using the Gotthard Base Tunnel, which is not accurate.

15.

The question asks for a concluding sentence that supports key ideas about the topic developed

earlier in the passage.

A. Incorrect. The option is incorrect because the economies of surrounding areas are never

mentioned in the passage.

CORRECT. The option is correct because it supports the points made in the introductory
paragraph by affirming the idea that the Gotthard Base Tunnel is an example of a way
people have improved life by overcoming obstacles.

. Incorrect. The option is incorrect because, although the construction of the Gotthard Base

Tunnel appears to have required many people to work together, the passage does not
explicitly mention people or groups working together.

Incorrect. The option is incorrect because it focuses on the cost of the Gotthard Base
Tunnel, which is referred to only in sentence 10 of the passage.
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READING COMPREHENSION

Excerpt from “How Exercise Could Help You Learn a New Language”

16.

The question asks how the author’s use of comparison in paragraphs 4 and 5 contributes to the

development of ideas in the excerpt.

Incorrect. Paragraph 5 does not claim that adults are never able to learn a second language,
only that “it becomes harder to learn a second language after childhood.”

Incorrect. The issue of physical activity is never addressed in these paragraphs. They
compare the relative ease with which children and adults learn languages.

. Incorrect. Paragraph 4 does not claim that more is known about language learning in

children; in fact, it says that children simply absorb language easily and does not attempt to
explain how.

. CORRECT. Because adult brains lose the “innate language capability” of children and have

less plasticity when it comes to language learning, the study chose to focus on adults and
how exercise might help them learn new languages.

17.

The question asks how the first sentence from paragraph 6 functions in the overall structure of

the excerpt.

A.

Incorrect. While paragraph 6 begins to describe how the study was carried out, the results
of the study have not been discussed in previous paragraphs.

Incorrect. The population used for the study is an important detail that helps describe who
participated in the study, as well as an ideal situation (college-age people trying to learn a
new language), but this is not critical information used to determine the results.

. CORRECT. While paragraphs 4 and 5 address why the study focuses on adult language

learning, the first sentence of paragraph 6 begins to give details about how the study was
conducted, including describing the population being studied: “40 college-age Chinese men
and women who were trying to learn English.”

Incorrect. The sentence from paragraph 6 does not include examples or discuss questions
for further research; it simply introduces the subjects recruited for the study.
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18.

The question asks for the best summary of the research procedure used in the study in

the excerpt.

Incorrect. This summary says that students learned new words by matching words and
images and “also by analyzing words in context,” but this last method was how the
researchers assessed students, not how the students learned words; the summary is
therefore inaccurate.

CORRECT. The summary includes the most important information, which is that one group
of non-English-speaking students exercised before and during the English lessons, while the
other group did not, and that the students’ learning was assessed afterward.

. Incorrect. This summary is incomplete because it never mentions the control group—that is,

the students who studied English without exercising—which was essential to the study so
that results could be compared.

Incorrect. This summary includes unnecessary details, such as that students were assessed
after a short break and also assessed after a month of no studying; it also neglects to
mention important points: that one group exercised both before and during learning, while
the other group did not exercise at all.

19.

The question asks why the researchers in the excerpt asked the English learners to assess

whether the new words made sense in the context of actual sentences.

A. CORRECT. As stated in paragraph 11, “Most linguists feel that understanding sentences

shows greater mastery of a new language” than mere memorization of new words, so the
researchers realized that asking learners to assess words in context would be a better
measure of how well they learned the new words.

Incorrect. The excerpt never addresses how earlier research on adult language learners was
conducted.

. Incorrect. Having learners respond to the new words in context was used not as a teaching

tool but rather to assess learners’ mastery (paragraph 11).

Incorrect. The excerpt describes how proficiency at assessing words in context began to
emerge “after several weeks of instruction” (paragraph 14) and never suggests that the
task became more difficult after an extended period of time.

227



20.

The question asks which sentence from the excerpt best supports Sulpizio’s assertion in

paragraph 17 that exercise went beyond helping with memorization to deepen the language

learners’ ability to use new vocabulary.

Incorrect. This sentence merely describes what the language-learning sessions were like,
without making any claims about how the exercise affected the subjects’ understanding of
how to use new words.

Incorrect. While this sentence does address the fact that learners were required to think

about how the new words should be used rather than just memorizing the words, it does
not discuss results such as how the exercise affected their ability to do this.

. Incorrect. This sentence establishes only that exercise helped with the memorization of new

words, not that exercise deepened learners’ grasp of how to use the new words.

. CORRECT. The fact that learners who exercised were better at identifying when the new

words were used correctly in sentences directly supports Sulpizio’s assertion that the
exercise deepened their grasp of how to use the new words.

21.

The question asks what paragraph 18 reveals about the author’s perspective toward the study

in the excerpt.

A.

CORRECT. As paragraph 18 says, the study cannot address “whether other people
completing other types of exercise would achieve the same results” as college students
riding bikes.

Incorrect. While paragraph 18 mentions that the students performed “relatively light
exercise,” it never suggests that more rigorous exercise should have been studied, only that
it is still unknown what the impact on language learning would be for other populations
doing other types of exercise.

. Incorrect. Paragraph 18 points out only that the study’s results cannot be generalized to

other populations performing other types of exercise and never speculates on whether the
study’s results could be duplicated.

Incorrect. Far from claiming that the study’s results could be applied more broadly to
learning in general, paragraph 18 points out the ways in which the study’s results cannot be
applied more broadly.
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22. The question asks which evidence from the excerpt is most relevant to the author’s claim that

there are many unanswered questions about the relationship between movement and learning.

E. CORRECT. While the study revealed that the college students who used exercise bikes did
better in their language learning, paragraph 18 indicates that we cannot know “whether
other people completing other types of exercise would achieve the same results,” suggesting
that there are many unknowns about the relationship between movement and learning.

F. Incorrect. Rather than supporting the claim that there are many unanswered questions
about the relationship between movement and learning, this statement offers a possible
explanation as to why exercise might improve learning.

G. Incorrect. The finding that exercise helps people retain their language learning longer
(paragraph 15) adds to our understanding of the relationship between movement and
learning rather than supporting the claim that there are still many unanswered questions.

H. Incorrect. Sulpizio’s statement that the study suggests that “ ‘instruction should be flanked

by physical activity’ ” (paragraph 21) does not in any way address the issue of unanswered
guestions about movement and learning.
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Excerpt from Do Them No Harm!

23. The question asks how paragraph 1 contributes to the setting of the excerpt.

A.

CORRECT. Paragraph 1 describes summer “when salmon spawn,” “huckleberries ripen,”
and The People gather for “their annual camas harvest.” These descriptions show the
abundance of food in the place where the excerpt occurs.

Incorrect. Although the setting refers to past events, the narration is not by The People. In
addition, the voice narrating the excerpt is not an element of the setting.

. Incorrect. Nothing in paragraph 1 suggests that the camp is changing in any way. The

People gather annually in this place. In addition, the language used to describe the setting
does not suggest any problems.

Incorrect. The People are not making observations about the setting in paragraph 1. They
are described as performing actions, such as gathering “for the work and festivities of their
annual . . . harvest.”

24.

The question asks how the beginning of the change of seasons mainly affects the characters.

CORRECT. Paragraph 4 describes the time as the last chance for The People to be together
“before the Cold Moons kept them close to their fires.” Paragraph 6 tells about how the
women were working hard to dig and cure roots, because “WARM was going and COLD was
coming.” These paragraphs describe both celebration and preparation before the

winter comes.

Incorrect. Paragraphs 4 and 6 describe the characters working hard, but there is no
discussion of them wanting to rest and relax.

. Incorrect. While both paragraphs describe some of the work involved in the harvest,

paragraph 4 also lists a number of leisure activities, such as visiting, foot racing, horse
racing, gambling, and stick games. The characters are still taking the time to relax.

. Incorrect. While paragraph 4 mentions trading in a list of activities that the characters are

doing, this is just one of many activities. Allowing the characters to trade goods is not the
way the change in seasons mainly affects them.

25.

The question asks how paragraphs 7 and 9 convey a central idea of the excerpt.

A.

Incorrect. Paragraphs 7 and 9 describe activities that The People do at the Red Bear camp.
They do not describe The People exploring new areas.

Incorrect. While paragraph 7 lists some of the activities that The People did to help, neither
paragraph emphasizes that The People need to be organized.

. Incorrect. Paragraph 9 mentions how the sun blessed the Red Bear camp. However, these

paragraphs do not otherwise mention weather.

CORRECT. Paragraph 7 lists activities that The People do with one another. Paragraph 9
states that “all were busy with their daily tasks.” Everyone is contributing to the community
in their preparation for winter.
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26. The question asks what is the most likely reason that the author repeats the word “played” in

paragraph 8.

E. Incorrect. Paragraph 7 describes the different tasks that the adults were doing at this time.
They were not watching the children play, because they were busy working.

F. Incorrect. While everyone enjoys being at the gathering, the word “played” does not
describe the activities of the adults. As described in paragraph 7, the adults are working
together at various tasks.

G. Incorrect. The word “played” is used before phrases describing what the children did. It is
not used to list activities available for all at the gathering.

H. CORRECT. The word “played” appears before different activities that the children did, such
as pretending to hunt, take care of the babies, and take care of the animals. They played by
pretending to do adult activities. The last sentence states that the children “learned how to
live through their play.”

27. The question asks how paragraphs 11-13 affect the plot of the excerpt.

A.

Incorrect. The paragraphs contain questions about the arriving people. They do not present
differing points of view.

CORRECT. The paragraphs ask questions in which the characters wonder whether the
arriving people are friends or enemies, or whether they might be bringing good news or bad
news. By suggesting that the arriving people could present problems such as these, the
paragraphs contribute to the rising action.

. Incorrect. The paragraphs do not lead to a turning point. Instead, they lead to the climax—

the moment the characters discover who the visitors are. This means the paragraphs
contribute to the rising action.

Incorrect. Paragraphs 11-13 ask questions. They do not provide background information
about the strangers; instead, they ask for it.

231



28. The question asks how the phrases “trophies of their hunt” and “paraded around” affect

paragraph 20.

E. Incorrect. The phrase “trophies of their hunt” describes the animals that the hunters have
successfully found. They have already received their rewards (the animals) and are showing
them to The People.

F. Incorrect. The excerpt describes many ways that The People find and prepare their own
food. While they appreciate the extra food, they are not dependent on the hunters.

G. CORRECT. The hunters “parade around” because they are proud of the animals they have
been able to get while hunting. Since a trophy is a recognition of success, they consider
these animals their trophies.

H. Incorrect. The phrases show the pride the hunters feel. As paragraph 20 says, the hunters
want “all to see how strong their Hunting Power had been.” The phrases are focused on the
hunters rather than on those who have gathered around them.

29. The question asks which quotation from the excerpt best supports the idea that The People feel

a connection to members of their group in spite of distance.

A. Incorrect. This quotation describes the fact that The People always return to the same camp

to perform the same traditional tasks and enjoy the same festivities as their ancestors. This
quotation highlights the customs The People continue from their ancestors, but it does not
focus on their present personal connections.

CORRECT. This quotation alludes to The People’s eagerness to hear about the families who
had traveled away from their group. This eagerness shows that they still feel a connection to
these families, even though they are far apart.

. Incorrect. This quotation describes The People’s analysis of the visitors—that they may be

hunters. It does not show a connection to the visitors.

Incorrect. This quotation shows that The People are curious about a stranger who has come
into their camp. It does not show closeness to distant members of the group.
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30.

The question asks how the statement from paragraph 22 affects the villagers in the excerpt.

E. Incorrect. In paragraph 21, the villagers question who the woman is and from where she
has come, but they are merely curious about her and not necessarily concerned, as there is
no indication in paragraph 22 that she might be a threat.

F. Incorrect. This statement reveals that the woman is a member of the Red Bear people who
has returned, and in paragraph 15 there is a reference to four hunters who have been gone
a long time. However, this statement serves only to satisfy the villagers’ curiosity about who
this woman is; it does not make the villagers hopeful that other people will also return.

G. Incorrect. Though paragraph 23 reveals that the villagers are somewhat surprised because
the girl has grown into a woman, paragraph 24 suggests they are excited to receive her.
There is no reason given in paragraph 22 for them to grieve for her loss, since she
has returned.

H. CORRECT. The hunters’ words from paragraph 22 amaze the villagers, who do not at first
recognize the woman. Once they know she is one of their own, they are eager to interact
with her, as revealed in paragraphs 24 and 25, where they give her a new name and
care for her.

31.

The question asks how the details in paragraph 5 about the locations of the camps and the

details in paragraphs 23-24 about the reaction to the woman convey a theme of the excerpt.

A. Incorrect. Paragraph 5 does not reveal that The People move often, only that they come
together near each other at this particular time of year. Paragraphs 23-24 reveal a
resolution to the difficulty of people who are absent for some time, but they do not relate to
the difficulty of moving often each year.

B. CORRECT. The details in paragraph 5 show that The People seek to come together in order
to share in recreational activities, demonstrating their connectedness. Similarly, the details
in paragraphs 23-24 reveal that The People quickly embrace a member of their group who
had gone away but has since returned. Taken together, these sections reveal just how much
The People rely on their connectedness, a theme of the excerpt.

C. Incorrect. Although paragraph 5 suggests that The People keep the customs of their
ancestors alive, it does not reference storytelling. Further, though paragraphs 23-24
suggest that The People had knowledge of this woman’s absence, they do not indicate that
this knowledge came from stories in particular.

D. Incorrect. In paragraph 24, an appropriate new name, meaning
“Gone-from-Home-then-Come-Back,” is bestowed on the returned woman. However, the
importance of appropriate names is not a theme of the excerpt. Rather, the theme that is
emphasized is the importance of the connection among The People, exemplified by the
annual gathering and the warm welcome extended to the woman who has returned after a
long absence.
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Invention of the Telegraph

32.

The question asks how the use of problem-solution in paragraph 2 contributes to the

development of ideas in the passage.

Incorrect. While the discussion “aboard ship” in 1832 reminded Morse of the lectures he had
attended at Yale College and made him consider how a coded message could be sent “over
a wire” (paragraph 2), it was Morse’s failed attempts with electricity that caused him to
reach out to Gale for help.

Incorrect. While “Morse found when he began to develop his idea that he had little real
understanding of the nature of electricity” (paragraph 2), the paragraph does not state that
he was discouraged; it was his failed experimentation that resulted in him first realizing that
he needed help.

. Incorrect. Paragraph 2 states that “Morse came to understand how [Faraday’s

electromagnet] worked,” and this understanding is what caused him to think about sending
messages over a wire. Also, Morse’s difficulty was in understanding the properties of
electricity in general once he began his experimentation.

. CORRECT. The author’s use of problem-solution in paragraph 2 contributes to the

development of ideas in the passage because the author states that “Morse found when he
began to develop his idea that he had little real understanding of the nature of electricity,
and . . . he finally turned for help to . . . Leonard D. Gale.” Thus, Morse’s longtime
fascination was not enough to make up for his lack of knowledge about electricity.

33.

The question asks how the details of the section “The Growth of an Idea” help convey a central

idea of the passage.

A. Incorrect. Although paragraph 2 in this section states that Morse “speculated that it might

be possible to send a coded message over a wire,” this section does not describe Morse and
his colleagues’ ultimate success at sending such a message.

CORRECT. The section helps convey a central idea because it mainly focuses on what
inspired Morse to begin his work and explains how others were just as interested in working
to achieve this goal. Paragraph 3 states that “Henry’s experiments, Gale’s assistance, and,
soon after, hiring the young technician Alfred Vail were keys to Morse’s success.” Their
shared interest in the possibilities of electricity inspired them to work together to find a way
to use electricity to send long-distance messages.

. Incorrect. Paragraph 2 of the section explains how Morse came to understand how Faraday’s

electromagnet worked and states that this invention prompted Morse to wonder whether it
might be possible to send a coded message over a wire. However, that early idea of Morse’s
only evolved into the telegraph after much more research and experimentation.

Incorrect. Although paragraph 2 establishes that Morse was interested in lectures at Yale on
electricity, the influence of what Morse learned at Yale was only a minor factor in his
development of the telegraph.
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34.

The question asks how the use of sequencing, or arranging in chronological order, in

paragraph 3 contributes to the overall structure of the passage.

Incorrect. Although the inventions and advancements of others assisted in the development
of the telegraph, the passage does not suggest that the other men were attempting to
create their own telegraph systems.

CORRECT. The use of sequencing in paragraph 3 emphasizes that Morse’s telegraph was
created through a process of building upon earlier scientific ideas and breakthroughs.
Paragraph 3 shows that when Morse approached Leonard D. Gale for help, Gale was able to
inform Morse about Joseph Henry’s earlier experiments and research concerning electricity.
Further, Gale built upon Henry’s work by showing Morse how to “regularly boost the
strength of a signal and overcome the distance problems he had encountered by using a
relay system Henry had invented.”

. Incorrect. The only other long-distance communication system mentioned in the passage is

the outdated semaphore system discussed in paragraph 1.

. Incorrect. The telegraph system was in development for more than ten years because of the

lack of funding and the need for further experimentation.

35.

The question asks for the best summary of how Morse obtained the funding necessary to build

his telegraph system.

A. Incorrect. This summary focuses mostly on what Morse did while his application for funding

was delayed in the United States rather than on how Morse acquired the patent, because
during this period, Morse tried “not only to secure patent protection overseas but to
examine competing telegraph systems in England” (paragraph 5). Therefore, it is not the
best summary of how Morse obtained the funding necessary to build his telegraph system.

Incorrect. Although this summary mentions how Morse applied for the “federal
government’s appropriation” (paragraph 4), it primarily focuses on the actions of the House
of Representatives and the Senate, not on Morse’s efforts to obtain funding. Therefore, it is
not the best summary of how Morse obtained the funding necessary to build his

telegraph system.

. CORRECT. This summary best describes how Morse obtained the funding that he needed for

his telegraph system, because it explains that Morse applied “for the federal government'’s
appropriation, and during the next year he conducted demonstrations of his telegraph”
(paragraph 4). In paragraph 5, the author explains the impact that the Panic of 1837 had on
Morse’s request. In paragraph 6, the author describes how by 1843, economic times had
improved, so Morse again “asked Congress for the $30,000” and was awarded the funds
after “the Senate approved it.”

Incorrect. This summary is not the best summary of how Morse obtained the funding
necessary to build his telegraph system, because it relates how Morse worked with others to
develop his ideas about the telegraph and how Gale and Vail were the “keys to Morse’s
success” (paragraph 3) before he applied for funding.
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36.

The question asks what the words “dramatic” and “spectacularly” convey in the sentence from

paragraph 7.

Incorrect. While there may have been some feelings of relief and fulfillment when the lines
were finished, the passage instead focuses on the wonder and joy that Morse and Cornell
felt after overcoming setbacks and completing the construction of the telegraph system.

CORRECT. Morse and Cornell rushed to post the wires overhead, and the “rigid deadline”
(paragraph 7) was successfully met. The words have a positive and victorious tone that is
consistent with the feeling of wonder that it worked and of celebration that the construction
was completed.

. Incorrect. The passage does not share whether Morse or Cornell considered the future

possibilities of the telegraph; it shares only that the finished product was “dramatic,”
implying it was amazing to see.

. Incorrect. While the passage later discusses the expansion of overhead wires “up and down

the Atlantic coast” and how they “connected the continents of Europe and America”
(paragraph 8), there is no evidence shared in the passage that Morse planned to continue
his work with electricity.

37.

The question asks how the graph supports the ideas in paragraph 8.

A. Incorrect. While it can be inferred from the expansion shown on the graph that people

possibly welcomed the improvement in long-distance communication, the graph does not
state this explicitly.

CORRECT. The graph shows the number of messages transmitted from 1870 to 1920. In
1920 almost 160 million messages were transmitted, showing a “dramatic”—almost
double—increase from 1910.

. Incorrect. The graph does not show how many people used the telegraph, but rather it

shows the number of messages sent. Additionally, paragraph 8 provides no details about
hesitation on the part of individual people.

Incorrect. While improvements in recording and interpreting code were made, the graph
does not show the effect of this advancement on the speed or number of messages being
transmitted.
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38.

The question asks how the passage mainly illustrates the idea that the United States was

mostly unaware of the possibilities of electricity in the mid-nineteenth century.

CORRECT. Paragraph 1 states that most signaling systems at the time were “visual or
‘semaphore’ systems using flags or lights” and that the United States government was
looking for “just such a system along its entire Atlantic coast.” This option is correct because
it shows that the government wanted to continue to use a limited system instead of finding
ways to improve the system. Had the government been aware of the possibilities of
electricity, a more sophisticated system might have been imagined.

Incorrect. The delay in funding had to do with the Panic of 1837 and the “long depression”
(paragraph 5) and was not because the House of Representatives was not aware of or ready
for innovation in the use of electricity.

. Incorrect. The information in this option focuses on what prompted Morse to consider an

electric wire-based communications system. While this option suggests that electrical
devices were just beginning to be invented, it does not support the idea that the nation was
unaware of the possibilities of electricity.

Incorrect. While this option describes an early electrical innovation that may seem quite
basic and limited to modern audiences, paragraph 3 states that this innovation was the
work of a “pioneer in the new field,” implying that it was quite significant for its time. This
option is incorrect because it focuses on those people in the United States who were aware
of the possibilities of electricity.

39.

The question asks which statement most likely represents a viewpoint held by the author of

the passage.

A. Incorrect. The author explains that the aboveground wiring was used only because “Cornell

suggested that [it was] the fastest and cheapest way” (paragraph 7), not because it would
be more successful.

Incorrect. The author conveys the importance of this advancement in communication
without providing detailed information about electrical systems.

Incorrect. While the Panic of 1837 caused a delay in Morse’s funding, the author shows that
Morse received the appropriation in 1843 and was able to overcome the financial

setback he faced.

CORRECT. Paragraph 8 states that “telegraph lines soon extended westward, and within
Morse’s own lifetime they connected the continents of Europe and America.” Therefore, this
option is correct because the author presents Morse’s telegraph as a great leap in the ability
to quickly communicate messages over distances never before imagined.
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40. The question asks how the map provides additional support for a central idea of the passage.

E. CORRECT. The map shows the telegraph line crossing continents in 1902, just forty-four
years after the first message was sent in 1858. This is a much greater distance than the
first line Morse built between “the Supreme Court chamber of the Capitol building and the
railroad station in Baltimore” (paragraph 7).

F. Incorrect. The map shows the distance the line covers; it does not indicate Morse’s lack of
foresight in seeking patents only in North America.

G. Incorrect. While Gale’s advice was crucial to Morse’s success, the map shows the physical
line stretching across continents many years later, after their initial work.

H. Incorrect. While it can be inferred that the telegraph had influence across the world, the
amount of influence cannot be determined.
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Snowy Mountains

41. The question asks how the description in the first stanza (lines 1-7) helps establish a central
idea of the poem.

A. Incorrect. Details comparing the length of time the mountains have existed with the length
of time the city has existed are referenced later in the poem.

B. CORRECT. The poem is mostly about the grandeur of the mountains in spite of the spread
of civilization. The first stanza contrasts these two elements.

C. Incorrect. The poem actually communicates the message that people do not recognize the
greatness of the mountains. This message is conveyed in the second stanza rather than in
the first stanza.

D. Incorrect. Although the first stanza mentions the size of the mountains, it does not imply
that people cannot see how large the mountains are.

42, The question asks how line 5 helps develop the theme of the poem.

E. CORRECT. Line 5 helps develop the theme that the mountains are more important than
people realize by suggesting that the mountains serve a noble, supportive purpose in
the world.

F. Incorrect. While the poem does describe the strength and permanence of the mountains,
the line does not suggest that these traits attract the clouds.

G. Incorrect. While the line states that the highest peaks are “at rest,” the mountains
mentioned in the poem have already been harmed by human influence and do not remain
untamed or untouched.

H. Incorrect. While pillars are strong and may indicate shelter, there is no suggestion in the line
that the mountains are protecting the people. Additionally, this concept is not a theme
of the poem.

43. The question asks how the isolation of the word “Uprise” in line 7 affects the meaning

of the poem.

A. Incorrect. The word “Uprise” describes the mountains and, therefore, does not create a

contrast between the plateau and the city buildings; rather, it creates a contrast between
the mountains and the plateau.

Incorrect. The word “Uprise” contrasts the mountains with the plateau; it does not compare
the mountains to the buildings in the city.

Incorrect. The word “Uprise” does not create a vision of the region before people developed
the land because the first stanza, which line 7 concludes, reveals that the land has already
been developed. Line 3 establishes that the mountains rise “above the dingy city-roofs.”

CORRECT. The isolation of the word “Uprise” powerfully emphasizes the first stanza’s
description of the magnificent mountains standing tall above the land below.
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44. The question asks for the line from the poem that best supports the idea that people have
sacrificed natural beauty for profit.
E. Incorrect. While city roofs may spoil the natural beauty, they do not directly symbolize
financial gain or profit in line 3.
F. Incorrect. Although making a profit might have been the root cause of the damage that was
done to the mountains, making war on the mountains is not a direct message about profit
or financial gain in line 10.
G. Incorrect. Although tunneling through the mountains affects the natural beauty of the
mountains, it does not directly symbolize financial gain or profit in line 11.
H. CORRECT. Advertisements are often used as a means to gain a profit, as implied by the
soap advertisements in line 13. Additionally, the word “Plasters,” in line 13, communicates a
negative connotation for the use of advertisements on the priceless natural beauty of the
mountains.
45. The question asks how the poet develops the speaker’s point of view in the second stanza.

A. Incorrect. The speaker’s descriptions of the mountains’ awe-inspiring size and strength
mainly occur in the first and third stanzas, while in the second stanza, the speaker focuses
on humanity and its negative effect on the mountains.

B. Incorrect. The wording of the second stanza—“makes war” (line 10), “Splits down their
shining sides” (line 12), and “Destroys the lonely fragments” (line 14)—communicates the
speaker’s position that people’s main impact on the mountains is destructive; the wording
does not illustrate different ways people impact the natural environment.

C. CORRECT. In the second stanza, the speaker criticizes the destructive actions of “the
world” (lines 8 and 10) against the mountains—actions such as tunneling “their granite
cliffs” (line 11) and destroying “the lonely fragments of their peace” (line 14).

D. Incorrect. In the second stanza, the speaker does not describe a positive relationship
between the mountains and the people.
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46. The question asks for the detail from the poem that reflects the speaker’s view that people
often fail to appreciate that which is familiar.

E. Incorrect. Line 6 describes the mountains’ location, rather than their long existence or their
familiarity.

F. CORRECT. Line 9 most directly supports this idea by implying that the mountains have been
there for so long that people are accustomed to seeing them and no longer appreciate their
beauty and value.

G. Incorrect. In line 12, the mention of harm that has been done to the mountains does not
connect to a sense of familiarity.

H. Incorrect. Although line 18 alludes to the long existence of the mountains, it does not
connect this long existence with a sense of familiarity or the failure of people to appreciate
the mountains’ worth.

47. The question asks how lines 21-22 help convey the speaker’s point of view.

A. Incorrect. The word “barrier” (line 21) refers to the speaker’s opinion that the mountains
were “spread by Gods” (line 19) and not to an obstacle that the speaker thinks should
be removed.

B. Incorrect. While the lines indicate that people have lost the need to connect with nature,
they do not reveal that the speaker thinks that the cause of this loss is busyness.

C. CORRECT. The words “those who do not need / The joy” in lines 21-22 reflect the
speaker’s sadness that people do not realize that they are destroying something wonderful
and irreplaceable.

D. Incorrect. Although the speaker does say that the stone is “time-resisting” (line 22), this
belief is only a small detail of the speaker’s point of view.

48. The question asks how the details in the third stanza most contribute to the development of a

theme of the poem.

CORRECT. In the third stanza, phrases such as “Wilderness still untamed” (line 17), “time-
resisting storm-worn stone” (line 22), and “The mountains swing along” (line 23) convey
the message that in spite of the destruction described in the second stanza, the mountains
manage to maintain their wild magnificence.

Incorrect. While the phrase “Barrier broken down” (line 21) conveys the idea that people
can have some effect on the natural landscape, it does not convey how nature
affects people.

. Incorrect. The phrase “those who do not need” (line 21) implies a choice to damage nature

and not a lack of awareness or understanding.

. Incorrect. The third stanza is not a call to humanity to respect the mountains but a

description of the untamed, welcoming mountains and the joy they provide for those who
appreciate them.
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49. The question asks what the personification in the concluding lines of the poem suggests about

the mountains.

A. CORRECT. Line 25’s use of the word “Welcoming” suggests that the mountains are kind
hosts. Lines 23 and 26, with language such as “The mountains swing along” and “The mists
that dance and drive before the sun,” imply the carefree nature of the mountains as they
resist the destructive work of humanity.

B. Incorrect. The personification in the lines conveys a sense of optimism and endurance, with
no language to suggest coming destruction.

C. Incorrect. Although the lines mention that “the mountains swing along” (line 23) and “the
mists . . . dance” (line 26), the personification is used to describe the mountains’
perseverance, rather than to suggest that the mountains are amused by the concerns
of others.

D. Incorrect. Although the second stanza develops the idea that the mountains have been
mistreated by humans, which might be a source of pain, the concluding lines emphasize the
joy and perseverance of the mountains as they “swing along” (line 23) despite significant
adversity.
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Excerpt from “The Past and the Future of the Earth’s Oldest Trees”

50. The question asks what the effect is of comparing groups of bristlecone pines to “a city within a

cemetery” (paragraph 2).

E. Incorrect. The reference to “a city within a cemetery” describes how new trees use the
remnants of their “ancestors” (paragraph 2) and makes no comment on the appearance of
young versus mature trees.

F. CORRECT. The “cemetery” contains “the bones of their ancestors”

(paragraph 2)—"ancestors” being earlier generations of bristlecone pines—which provide
some of the nutrients that the new trees need.

G. Incorrect. The reference to “a cemetery” is not a comment on how long bristlecone pines
can live; rather, it illustrates that the new pines are using remnants of their “ancestors”
(paragraph 2) to grow.

H. Incorrect. Although the climate is mentioned in paragraph 2, it is not the reason for the
comparison to “a city within a cemetery.” The comment is intended to illustrate how the
new trees use nutrients left behind by the old ones.

51. The question asks how paragraph 4 mainly conveys the idea that the bristlecone pine can

withstand difficult conditions.

A. Incorrect. While paragraph 4 does mention the bristlecone pine in conjunction with other
long-living trees, this does not explain in any way how the bristlecone pine can survive
difficult conditions.

B. CORRECT. Paragraph 4 mentions several qualities that help the bristlecone pine survive a
difficult environment: it can survive in a “dry, cold climate” as few plants can, it tolerates a
soil that is heavily alkaline and low in nutrients, and the density of its wood protects it
from insects.

C. Incorrect. Paragraph 4 focuses on the qualities of the bristlecone pine that make it well
suited to the White Mountains rather than on why the White Mountains are well suited to
bristlecone pines.

D. Incorrect. While paragraph 4 does acknowledge that the bristlecone pine has few
competitors because the pine can stand conditions few other plants can stand, it is the
examination of the pine’s unique qualities that explains how the pine survives those
conditions.
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52. The question asks how the first sentence of paragraph 5 contributes to the development of

ideas in the excerpt.

Incorrect. While “two-hundredths of an inch” is a reference to the bristlecone pine’s growth
pattern, the point of the reference—and of the entire sentence—is to emphasize the
incredibly slow pace of the pine’s life cycle.

Incorrect. While “wars raged” is a threat that empires face, the point of mentioning wars
and the rise and fall of empires is to emphasize the bristlecone pine’s slow-paced life cycle
by contrasting its slowness with the big, dramatic changes taking place in human history
during that life cycle.

. CORRECT. Making reference to huge changes in human history such as the rise and fall of

empires and the raging of wars provides a sharp contrast to the incredibly slow growth of
the bristlecone pine.

. Incorrect. This sentence describes how slowly the bristlecone pine grows in contrast to how

dramatically human history changes in the same time span but never explains the reasons
for the pine’s longevity.
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53. The question asks which claim is best supported by the details about the bristlecone pine tree’s

ring record presented in paragraph 5.

A. Incorrect. In paragraph 5, the author explains that the bristlecone pine is “an exceptionally
useful source of data about changing conditions on Earth,” and this suggests that the
information presented by the trees is particularly valuable and important. However, while
the paragraph explains that the data provided by the trees are important, it does not
address the need to protect the trees from any threat of extinction. The only reference to
the trees’ extinction is in paragraph 7, when the author addresses the “possibility that
climate change will cause their extinction” but then explains that “scientists tend to discount
the idea that the bristlecones are in immediate danger.”

B. Incorrect. Paragraph 5 describes “minute changes in the tree-ring record” that make
bristlecone pines “an exceptionally useful source of data about changing conditions on
Earth,” and examples of those changing conditions are described in the present tense:
“When rains are heavier than normal, the rings widen.” However, the term “record”
indicates that the tree rings are already formed by the time scientists study them. The trees
provide information about the past, which is emphasized by the description at the beginning
of paragraph 5 of historic events one tree lived through. The excerpt contains no
information about whether scientists can use the climate patterns of the past as evidenced
by tree rings to make predictions about the future.

C. Incorrect. Paragraph 5 describes the “slow-motion existence” of the bristlecone pine and
provides examples of the record of “changing conditions on Earth” reflected in the rings of
the trees. However, although the paragraph makes it clear that the trees have been able to
survive these changing conditions, the paragraph does not indicate that the slow growth of
the trees, each of which adds only “about two-hundredths of an inch to the diameter of its
trunk each year,” is the key to their survival. Instead, paragraph 4 lists other reasons why
an established bristlecone pine “can last almost indefinitely,” including distance between
individual trees; tolerance for cold, dry conditions and dolomite soil; and bark that is
resistant to insects.

D. CORRECT. Paragraph 5 emphasizes the longevity of the bristlecone pine by discussing its
“implacable slow-motion existence” and how this makes the trees a valuable source of
information for scientists. The author explains that “minute changes in the tree-ring record
make bristlecones an exceptionally useful source of data about changing conditions on
Earth.” A tree that has been alive since 2500 B.c., like the one in paragraph 5, can provide a
long record of the changing climate.
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54.

The question asks what the phrases “clings to life” and “stripped of bark” in paragraph 6 are

used to emphasize.

Incorrect. While these two phrases are suggestive of the tree’s fragility, nothing in this
paragraph suggests that the tree needs help to avoid extinction.

Incorrect. While the tree may be misunderstood to be dead because it is “stripped of bark,”
the phrase “clings to life” emphasizes the fact that the tree is not dead but manages
to survive.

. Incorrect. The paragraph says that far from being interested in the tree’s unusual

appearance, “most people march past it without giving it a second glance” (paragraph 6).

. CORRECT. The phrase “clings to life” emphasizes that the tree is still surviving even though

it is partially fossilized, as shown by its “marbled hulk stripped of bark” (paragraph 6).

55.

The question asks which central idea of the excerpt is supported by the details in paragraph 7.

A.

Incorrect. While paragraph 7 mentions the pines’ ability to survive climate change, the
central idea is about the trees’ longevity. Surviving climate change is a part of the pines’
longevity, but just surviving climate change does not fully encompass the central idea of
the excerpt.

Incorrect. Although the paragraph mentions that the “super-elderly trees” are each unique
in appearance, their appearance does not directly connect to their ability to survive. The
details in paragraph 7 emphasize the durability and longevity of the trees.

. Incorrect. While the beginning of paragraph 7 expresses the idea that each bristlecone pine

appears to be a unique individual and supports the idea that humans relate to the pines, the
paragraph expresses a stronger central idea in the last two sentences about the
pines’ survival.

CORRECT. The longevity of bristlecone pines is a central idea of the excerpt. Experts are
encouraged that bristlecone pines have survived many catastrophes, and the details in the
second half of paragraph 7 draw direct attention to the trees’ longevity.
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56. The question asks for the best summary of the bristlecone pine’s life cycle.

E. Incorrect. Though the summary in this option covers key points in the life cycle, it focuses
on minor details (“stubby seedling” and “alkaline soil”) while leaving out major details of the
life cycle (for example, the fact that parts of the trees become fossilized over time).

F. Incorrect. This option addresses the unique quality of the pine growing from “fragments of
its dead ancestors”; however, it does not address the fossilization phase, which is a major
part of the life cycle. In addition, this option incorrectly states that the tree continues to
funnel nutrients to its stem.

G. CORRECT. The option describes the key phases of the pine’s life cycle without focusing on
minor details. The organization of the summary is chronological, and the information
presented is accurate.

H. Incorrect. The option focuses more on the location and the appearance of the pine than on
the phases of the pine’s life cycle. The option contains an accurate description of the pine’s
appearance but provides little information about the main phases of its life cycle.

57. The question asks how the author mainly conveys his point of view throughout the excerpt.

A. CORRECT. The author clearly conveys his interest in and admiration of the bristlecone pine
by sharing many details throughout the excerpt that show how unusual the tree is; these
include details about the tree using remnants from previous generations (paragraph 2),
details about the tree’s “agonizingly” slow growth rate (paragraph 3), and details about the
incredibly difficult growing conditions that the tree thrives in (paragraph 4).

B. Incorrect. While the author does briefly compare the bristlecone pine to global empires
(paragraphs 1, 3, and 5), he mainly offers many details throughout the excerpt about what
makes the bristlecone pine so unusual.

C. Incorrect. While paragraph 6 largely focuses on the contrast of the pine’s sickly appearance
with its ability to survive, this is just one detail about the pine that makes it unusual. The
author offers many such details throughout the excerpt.

D. Incorrect. The author suggests in paragraph 7 that the bristlecone pine “may survive
humanity,” but this is just one detail about the bristlecone that the author offers in an
excerpt full of details, each of which contributes to an understanding of how unusual
this tree is.

247



Form B
Sample Test - Mathematics Explanations

of Correct Answers
58. (—0.8) First, distribute % over (2x + 5)
6

to get the expression EX + 3 — 2x.

Express —2x as —1—50x and then add
like terms:

éx + 3 + (—ﬁx> = —=X + 3.
5 5 5

The coefficient of x is —%.

When expressed as a decimal,

-4 _ o3,
5

59.

(5) There will be 5 different outcomes

with a sum of 6:

O bh WN =
+4++++
=N WA U,
o

()N e) o) I e) B e)]
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(95) First, find the perimeter of
the figure.

Two sides do not have labels. The top of
the figure measures 13 cm and the
bottom shows a length measuring 8 cm,
so the horizontal side without a label

measures 5 cm (13 — 8).

The left side of the figure measures 6 cm
and the right side shows a length
measuring 3 cm, so the vertical side

without a label measures 3 cm (6 — 3).

So the total perimeter of the scale

drawing is

13+43+5+3+4+8+4+ 6 =38cm

Use the scale to find the perimeter of the

actual garden:

lcm _ 38cm
2.5m pm
p =25 X 38 =95



61. (21) The 11:00 a.m. temperature is 63.
3.5 times the 9:00 a.m. temperature. The
9:00 a.m. temperature was 4° F.
4 X 3.5 = 14
The temperature increased from —7° F at
5:00 a.m. to 14° F at 11:00 a.m., which is
an increase of 21° F.
62. (32) The volume of a triangular prism is

(A) The x-axis represents the length of
the pole, in feet, and the y-axis represents

the weight of the pole, in ounces.

The point (1, 4) means that a 1-foot pole

would weigh 4 ounces.

Since the graph is linear, the pole weighs
4 ounces for every additional 1 foot

of length.

So the unit rate is 4 ounces per foot.

found by multiplying the area of the

triangular base by the height of the prism. 64.

The area of the triangular base of the

prism is %bh = %(4)(8) = 16 square
inches.

(F) Find the sum of 2.5 + (—4.5):

2.5 + (—4.5) = 2.5 — 45 = —2

Point F is located at —2.

The height of the triangular prism

is 2 inches.

65.

So the volume of the triangular prism, in

cubic inches, is 16 « 2 = 32.

249

(©)

9 _ 3%
2x 8

9 8 =72
2X o 3y = 6xy
72 = 6xy
12 = xy



66.

(E)

15,600 X 12%

15,600 x 0.12 = 1,872
15,600 — 1,872 = 13,728
67. (B)
42 . 51 _ 14 . 5 _
3 2 3 2
14 2 _ 28 _ 413
3 5 15 15
68. (F) Let x be the number of assistants.

Since the ratio of assistants to players

isl,then:
6

1_ x
6 36

i:x
6

6 = X

There are a total of 6 assistants.

So the ratio of coaches to assistants
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p +
p +

69. (A) The posts are each 10 feet long, and
3% feet of each post is below the ground,
so the height of the part of the posts that
is above the ground is the difference
between the two amounts:

10 - 3L =
3
10 _ 10 _
1 3
3 3 3 3
70. (F) First substitute 2 for r in the equation.

2r=r(p + 1) + 1
22) =2(p + 1) + 1

Then solve for p.

p+202)=2p+ 1) +1
p+4=2p+2+1
p+4=2p+ 3

p+ (4 —-3) =20+ (3 - 3)
p+1=2p
(p—pP)+1=2p—-p
1=p

The value of p is 1.



71.

(B) First, determine the rate at which
Martina reads, in pages per day, using the
rate at which Karen reads,

60 pages per day.

60 + 60 o 22 —

100
60 + 60 « 0.25 =
60 + 15 = 75

Next, determine the number of days it will
take each person to complete the

1,500-page reading assignment.

Karen: 1,500 pages _ 60 pages
k days 1 day

60k = 1,500

(60 + 60)k = 1,500 =+ 60

k = 25 days

Martina: 1,500 pages _ 75 pages
m days 1 day

75m = 1,500

(75 + 75)m = 1,500 + 75

m = 20 days

Finally, determine the difference between

the two numbers of days.

25 — 20 =5

So Martina will complete the assignment

5 days sooner than Karen.
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72.

(H) Claire’s goal is to run at least
2,500 meters, and she has already run

650 meters.

2,500 — 650 = 1,850

Claire has at least 1,850 meters left to
run. Divide by the distance around the
track to find the number of laps she needs

to complete:

1,850 + 120 ~ 15.417

Since she wants to run at least

2,500 meters, round 15.417 up to 16.
Claire needs to run 16 laps to

meet her goal.



73.

(D) First, determine the number of

employees in 2010:

200 X 25% = 200 X 0.25 = 50

So the number of employees in 2010 is

200 + 50 = 250.

Next, determine the number of

employees in 2015:

250 X 10% = 250 X 0.10 = 25

So the total number of employees in 2015

is 250 + 25 = 275.
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74.

(E) The probability of choosing a green
candy is twice as great as the probability
of choosing a red candy. There are 12

green candies. Let r = the number of

red candies.
12 = 2r
r==6

So there are 6 red candies. 12 green
candies + 4 yellow candies + 6 red

candies = 22 total candies.

There are 4 yellow candies out of a total
of 22 candies. So the probability of

choosing a yellow candy is



75.

(D) The amount of data in a box plot is 77.

broken into 4 parts, or quartiles, which
each represent 25% of the data. So the
amount of data represented between
Quartile 1 (12) and the median (16) is
about 25% of the data.

76.

(E) There is a proportional relationship
between the length of the race, x miles,
and the number of water stations, y. The

constant of proportionality is

y -2
X 3
2

= Z£x
Y 3

Therefore, the equation y = %x

represents this relationship.
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(B) If half the undecided voters (half
of 20) vote in favor of building the park,
the total number of “yes” votes from the

survey will be 152.

142 + 10 = 152
There are 24,100 voters, and 200
residents were surveyed. Set up a

proportion to solve:

152 _ X

200 24,100

19 x

25 24,100

(24,100)<ﬁ> = x
25

18,316 = x



78.

(E) All the numbers are negative, so they
are all less than zero. Consider the
absolute value of each number and where
it falls on a number line. The negative

number closest to 0 will be the greatest.

The negative number with the greatest
absolute value is =49, so it has the

least value.

The negative number with the next
greatest absolute value is —1, so it would

fall next in order from least to greatest.

—49, —1

Compare the absolute values of

49 7

Therefore, the numbers listed from least
to greatest are:

—49, 71,

I

~1
7

So the number —% is the greatest.
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79. (C) Calculate the decimal equivalent of
_13.
11
—1—f = —1.18181818... = —1.18
80.

(H) Each loaf of bread requires % ounce
of salt. Therefore, the baker can make 5
loaves of bread with 1 ounce of salt.
Multiply to find the number of loaves that
can be made with 40 ounces of salt:

5 X 40 = 200



81.

(D) First, subtract to simplify.

Follow the process for dividing fractions:

(7)< (3 =1 =2
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82.

(F) Split the compound inequality into two

inequalities.

-5<1-3xand1l — 3x < 4

For each inequality, subtract 1 from

each side.

-6 < —3xand “3x < 3

For each inequality, divide both sides by
—3. Note that dividing each side of an
inequality by a negative number changes

the direction of the inequality.

2 > xandx > —1

Combining the pieces gives the compound

inequality =1 < x < 2.

The solution is that x is greater than or
equal to =1 and less than or equal to 2,
so choose the number line with filled
circles at —1 and 2, with the filled

segment between the circles.



83.

(D) Set up a proportion:

1 sind

0.75 plunk

1(8) = 0.75x

8 = 75 X
100

8=§x

10.67 ~ x
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84.

(F)8x — (7 + 2.5x) + 2

First, distribute —1 over 7 + 2.5x:

8 — 7 — 2.5x + 2

Then combine the like terms:

55x — 5

The simplified form of the expression

is 5.5x — 5.

85.

(B) Groups P and Q have an equal
number of members. All the members of
Group P are 17 or older, but only about%

of the members of Group Q are

17 or older.



86.

(G) Jar Q contains 12 balls, and the

probability of drawing a yellow ball at

random is l.
3

3 4

There are 4 yellow balls in Jar Q.

Jar R contains 8 balls, and the probability

of drawing a yellow ball at random is %

4 2 8

There are 6 yellow balls in Jar R.

Jar S contains all the balls from Jar Q

and Jar R.

12 + 8 = 20

There are 20 balls in Jar S.

4 4+6=10

There are 10 yellow balls in Jar S.

10 . 10 _ 1
20 10 2

The probability of drawing a yellow ball at

random from Jar S is %
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87.

(D) The ratio of pretzels to raisins in Gia’s
bag of snack mix, 12:9, is equivalent to
the ratio of pretzels to raisins in Trevon’s

bag, 16:12.

12 _ 16 _ 4

9 12 3

88.

(G) First, substitute 4x for each y in the

expression:

3y + 23y + 5) — x =
3(4x) + 2[3(4x) + 5] — x

Then simplify the expression:

3(4x) + 2[3(4x) + 5] — x

12x + 2(12x + 5) — x
12x + 24x 4+ 10 — x
12x + 24x — x + 10
35x + 10

The simplified expression is 35x + 10.



89.

(C) First, determine the area of each
circle using the formula A = nr:
A circle with a diameter of 18 inches has a
radius of 9 inches, so the area is

1(9)°> = 81ix.

A circle with a diameter of 12 inches has a
radius of 6 inches, so the area is

1(6)° = 36m.

The difference between the two areas is

81nr — 36n = 45nm.

90.

(F) First, determine 10% of |x|

0.10 « |x|

0.10 -« [—4
0.10 « 4 = 0.4

Then determine the sum of x and 10% of

The sum is —3.6.
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91.

(A) The volume of a cube is V = 53,

where s is the length of one edge.

V512.

So 512 = 53, and s =

If you are not sure how to find the cube

root, you can estimate.

We know

10 X 10 x 10 = 10° = 1,000, so

Y1,000 = 10.

Since 512 is less than 1,000, the answer
must be less than 10. The only given
option less than 10 is 8. Double-check to
make sure this is correct:

83 =8 x 8 x 8 = 512.



92.

(F) The temperature on Tuesday was 93.

84° F, which was 5% higher than the

temperature on Monday.

This can be represented by the equation

84 = 1.05x.

Dividing both sides of this equation by
1.05 gives x = 80.

Therefore, the temperature on Monday

was 80° F.

Since the temperature on Wednesday was
10% lower than the temperature on
Monday, the difference between the two
temperatures would equal

(10%)(80) = 8.0°F.

(B) First, determine all possible factors
of 168. One method of doing this is to use

a table to list pairs of factors.

Factors of 168
168

84

56

42

28

24

21

12 14

O |IN || P WI[IN|F

Then determine the group of three
sequential factors (n — 1), n, and
(n + 1) where n is as large as possible.

This group is 6, 7, and 8, wheren = 7.

94.
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(E) The total number of days (86) is
divided by the number of days in
a week (7).

86 + 7 = 12, with a remainder of 2

The 2 days are counted back from
Tuesday, so the first performance was

on a Sunday.



95.

(C) Add the taxes to the amount of the 97.

check to find Michael’s total pay before

taxes were deducted:

213 + 32 = 245

Divide the total pay by the number of
hours to find the hourly pay rate:

245 + 20 = 12.25

(C) The value of the car decreased $5,000
in two years: $15,000 to $10,000.

5,000 + 2 = 2,500

Therefore, the value of the car decreases
$2,500 each year. After the first 3 years,

the car’s value had decreased $7,500.

So 7,500 + 15,000 = 22,500.

96.

98.

(G) To find surface area, use the formula

A = 2(hw + hl + Iw):

2[(20)(40) + (20)(50) + (50)(40)]
A = 2(800 + 1,000 + 2,000)
2(3,800) = 7,600
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(F) If Alana picks 4 blue disks in a row,
the number of blue disks and the total
number of disks will both decrease by 1

after each selection.

For the first selection, there are 4 blue
disks out of 9 total disks, so the
probability of selecting the first blue disk

is i.

The probabilities of selecting blue for the

next three selections are é, 3, and 1
8 7 6

40321 24 _ 1

9 8 7 6 3,024 126



(A) Rewrite the percent as a decimal: 100. (H) To find out how many members there
were in 2002, calculate 40% of 50 and
%% = 0.5% = 0.005 then add it to 50.

50 X 0.40 = 20
So the correct answer must not

equal 0.005: 20 + 50 = 70 members
Option A
To find out how many members there
0.005 were in 2003, calculate 40% of 70 and
———— = 0.00005
100 then add it to 70.
Option B 70 X 0.40 = 28
1 28 + 70 = 98 members
—2_ = 0.5 + 100 = 0.005
100
To find out how many members there
Option C were in 2004, calculate 40% of 98 and
then add it to 98.
. c?oo = 0.005
' 98 X 0.40 = 39.2
Option D
prion The result is 39.2, which is rounded to 39
1 to keep members to the nearest
—— = 0.005
200 whole number.
All answer options except Option A 39 + 98 = 137 members

equal 0.005. Therefore, Option A is the

correct answer.
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101. (D) 6x — 20 < 5x — 2(5 — 3x)

Distribute the coefficient =2 on the right-

hand side:

6x — 20 < 5x + (—2)(5) + (—2)(—3x)

6x — 20 < 5x — 10 + 6x

Subtract 6x from both sides:

—20 < 5x — 10

Add 10 to both sides:

—10 < 5x

Divide both sides by 5:

-2 < X

This is equivalent to

X > T2
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102. (G) The ratio is red:white:blue = 2:5:3.

Find the number of each color in a box of

30 paper clips.

2x + 3x + 5x = 30
10x = 30
x =3

Red: 2x = 2(3) = 6

White: 5x = 5(3) = 15

Blue: 3x = 3(3) = 9

If one paper clip of each color is removed
(3 total), there will be 8 blue paper clips

out of 27 in the box. The probability that
the next paper clip chosen will be blue

is —.
27



103. (B) Each option is divisible by 1, 2, 3,

4,5, and 6.
Option A:

1,680 is evenly divisible by the first 8

positive integers.
Option B:

840 is evenly divisible by the first 8

positive integers and is less than 1,680.

Option C:

480 is not evenly divisible by 7.

480 + 7 = 68.57

Option D:

420 is not evenly divisible by 8.

420 + 8 = 52.5

Option B (840) is the correct answer.
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104. (F) One method of solving the problem is

to use a table to represent the sample
space. Let the three colors be red, blue,

and green.

PAINT COLORS

Window Frame| Door | Wall
Red Blue |Green

Red Green| Blue
Blue Red [Green

Blue Green| Red
Green Red | Blue
Green Blue | Red

There are 6 possible combinations of

colors for the window frame, the door, and

the wall where no two parts are painted

the same color.



105. (D) Similar geometric figures have sides

that are proportional.

10 _ x
6 9
é:i
3 9
)(:(5)3(9):15

Because MN = NP, both unknown sides are
equal to 15. Therefore, the three sides of
MNP are 15, 15, and 10. The perimeter of
a triangle is the sum of its three

side lengths.

15 + 15 + 10 = 40
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106. (G) First, analyze the role of each variable

in the expression x2yz3|w|.
x2 will always be a positive number.

y can be a positive or a negative humber.

z3 can be a positive or a negative number.

|w| will always be a positive number.

The expressions x2 and |w| will always be
positive. Therefore, making the values of y
and z negative would result in the
expression yz3 being positive, since a
negative multiplied by a negative is
positive. Thus the given product would

always be positive.



107. (B) Use the joint probability formula:

P (black shirt first) « P (red shirt second,
given black shirt first).

Initially there are 3 black shirts out of 6

total shirts, so the probability of picking a
3

black shirt first is

Once a black shirt is picked first, there is 1

red shirt out of 5 total shirts remaining.

So the probability of picking a red shirt

second, given that a black shirt was
1

picked first, is

Then P (black shirt first) « P (red shirt

second, given black shirt first)

3,1_3 _ 1
30 10

6 5
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108.

(E) The volume of a cube with a side

length of s is

V=g

Since 125 small cubes were used to build

3

the large cube, 125 = s”.

Each side of the large cube is made up of

5 small cubes.

125 = 53

Since 5 small cubes make up each edge of
the large cube, and the edge of each small
cube measures 1 inch, the measure of
each edge of the large cube is

1 X 5 = 5inches.

109.

(A) The probability of Davina picking an
odd-numbered ball from Box B is % If
Davina places an odd-numbered ball in
Box A, then the probability of Yusuf
picking an odd-numbered ball from Box A
is % The probability of both of these

events happening is the product of the

two probabilities.

2,1 _2
3 9

1
3



110.

(E) Since |x + 1| > 2, either
X+ 1< 2o0orx +1 > 2.

Solving x + 1 < —2for x gives x < —3.

Solvingx + 1 > 2 for x gives x > 1.

A filled circle on a number line represents
“or equal to.” So the correct number line

representation has filled circles at =3 and
1, with the number line filled to the left of
—3 for “less than” and to the right of 1 for

“greater than.”

111.

(D) First, determine the area of the
kitchen floor in square feet by multiplying

the length and width:
12 X 7.5 = 90 square feet

Next, determine the area of each

square tile:

0.75 X 0.75 = 3 x 3 = 2
2 " a

The number of tiles needed is found by
dividing the area of the floor by the area
of the tiles:

90 + 2 =90 x 18 = 160
16 9
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112. (E) First, determine the number of tickets

sold on Sunday, x, using the total number
of tickets sold on Saturday and Sunday,
30,000, and the number of tickets sold on

Saturday, 4x.

30,000 = 4x + x

30,000 5x

6,000 = x

Then determine the number of tickets
expected to be sold on Monday, y, using
the number of tickets sold on

Sunday, 6,000.

6,000 = 3y

2,000 = y

The number of tickets expected to be sold

on Monday is 2,000.



113. (C) The original area of the field was

4,000 square meters.

80 X 50 = 4,000

When the field was enlarged, the length
increased by 15%, so the new length is

92 meters.

80 X 15%
80 X 0.15 = 12
80 + 12 = 92

The width increased by 10 meters, so the

new width is 60 meters.

50 + 10 = 60

The new area of the field is

5,520 square meters.

92 X 60 = 5,520

The percent increase is found by finding

the difference between the two areas and

dividing the increase by the original area.

5,520 — 4,000 = 1,520
1,520 + 4,000 = 0.38 = 38%
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114. (E) Since x and y are both negative

integers, both x? and y2 are positive.

Therefore, both xzy and xy2 are negative,

and both —xzy and —xyz are positive.

Because x < y and both x and y are
negative, |y| < |x| and y2 < x%.So

|y2| < |x2|.

Since |y| < |x| and x and y are integers,

2| < |x2y].

So x2y < xyz.
xXy< = |xy2| and _x2y= |x2y|

Therefore, xzy < xy2 < —xy2 < —xzy.
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